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Christmas Multiplication

Solve the following word problems.

Santa is making 123 gingerbread houses. Each
house requires 45 candies. How many candies
does Santa need in total?

The elves in the North Pole are making toys. Each
elf can make 45 toys a day. If there are 111 elves,
how many toys can they make in a day?

A Christmas tree farm has 375 trees. If each tree
sells for $48, how much will the farm earn if all the
trees are sold?

A Christmas cookie factory produces 125 boxes of
cookies each day. If each box sells for $32, how
much does the factory earn in a day?

A toy store sold 345 teddy bears. If each teddy
bear costs $25, how much did the store earn from
selling the teddy bears?

A Christmas lights manufacturer produces 400 sets
of lights every day. If each set is sold for $35, how
much does the manufacturer earn in a day?

A candy cane factory produces 500 candy canes
each day. If each candy cane is sold for $12, how
much does the factory earn in a day?

8 A Christmas ornament factory produces 225
ornaments each day. If each ornament is sold for

ils, how much does the factory earn in a day?
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